Seat No. :

NE-117

December-2015
B.A., Sem.-V

CC-304 : Political Science
(EA : Western Political Thinkers-I)

Time : 3 Hours]

YA 6L Uil ARl AL €.

1. ABaddl (Gl G 218 AlY quil.
vl
Alrdall AdaHdl 2 g siRel Qo QoL 2l 5.

2. SloAAL HMIDS 52AAL Rigid-dl 2l 52
2Yal

AP 2 A5 [ elodAl Rl AsicHs dud 2.

3. e Gerdlel [Udl ¥ dis 2l s
2Yal

e AlsBL AUNAL AHID S $AL Rlgid M.

4, AL 926911 Rgia-dl aal sl
vl
3l A Y Bl 2l 52

5. (A) %3l AL:

A B
1. Alyadl a.  AHDS sAL Rgid
2. % dls b. Qe
3.0 AL %91 c. WAL ¥
4. -y eloy d. 2 AA» 2l aadu-e
5. AL GgHa e. o [un
6.  Sodnsl Fids £ disHl ¥
7. S 1469 g %.%. 3
8. S.A.1632 h.  alada-
NE-117 1

[Max. Marks : 70

P.T.O.



(B) AL [Quil Al 3 viel 9 d dull.

NE-117

(1
2
3)
4
(&)
(6)

AR 2 ARSI ARl dsldd dls $2 .
ABuddll o= Soa-3Hl YUl Sdl.

Aatdelll w51 Bl Het de qeagldl?l .
[3s51{l2atL dvis 3l €.

gloidl gedl iarald avlq AsRIAS ©.

Alsl Hd AHIDS $AR 6L Sl



Seat No. :

NE-117

December-2015
B.A., Sem.-V

CC-304 : Political Science
(EA : Western Political Thinkers-I)

Time : 3 Hours] [Max. Marks : 70
Instruction :  All questions carry equal marks.

1.  Write a note on Machiavelli’s thought.
OR
Discuss Machiavelli’s view on Ethics and Politics.

2. Discuss Hobbe’s theory of social contract.
OR
Critically examine Hobbe’s view on state and government.

3. Discuss Locke as father of classical liberalism.
OR
Explain the theory of social contract as given by John Locke.

4.  Discuss the theory of General Will.
OR
Discuss the political philosophy of Rousseou.

5. (A) Match the following :

A B
1. Machiavelli a.  Theory of social contract
2. John Locke b.  Hobbes
3. General Will c.  Birth of Machiavelli
4.  Thomas Hobbes d. Two Treaties on Govt.
5. Origin of the State e.  The Prince
6. British Philosopher  f.  Birth of Locke
7. A.D. 1469 g. J.J. Rousseou
8. A.D. 1632 h.  Leviathan
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(B) Write true or false :
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(1)
2)
3)
4
(&)
(6)

John Locke gave the difference between State and Government.
Machiavelli was born in England.

State craft is the core element of Machiavelli’s political philosophy.
Rousseou is an author of the Discourses.

Hobbe’s portrayal of the state of nature is optimistic.

According to John Locke there is two social contract.
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1. Explain the nature of constitution of Britain and discuss its main characteristics. 14
OR
Explain the structure of British Parliament. Discuss its powers and functioning.

2. Discuss the real powers of British Crown. 14
OR
Discuss the salient features of the constitution of France.

3. Clarify the constitutional position and powers of President of France. 14
OR
Explain the structure of the national assembly of France and discuss its importance.

4. Write short notes : (any two) 14
(A) Periodical Development of British Constitution
(B) Role of political parties in Britain
(C) Position of Prime Minister in France
(D) Structure of Judiciary in France

5. (A) Match the following : 7

A B

1. Jenings Eiver a. Burrows

2. Legislative Assembly of France b. 1918

3. Local Government ¢. Judiciary in Britain

4.  People’s Representation Act d. House of Commons

5. Edward Heath Government e.  Cabinet Government

6. Britain f.  Council of Republic

7.  Extra Constitutional g. 1970
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(B) Choose the correct alternative :
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(1

2

3)

4

(&)

(6)

(7

is the type of Local Government in France.

(a) Communes (b) Perishes
(¢) Urban (d) All of the above
The strength of senators in France is .
(a) 341 (b) 321
(c) 331 (d 311
chairs the meeting of the cabinet of Ministers in France.
(a) Prime Minister (b) President
(c)  Chief Justice (d) Army General

The power to pass the Finance Bills is granted to the Legislative
Assembly of France under Article

(a) 42 (b) 44

(c) 47 (d 49

There is government in Britain

(a) Presidential (b) Local

(c) Parliamentary (d) All of the above

is the Constitutional Head in Britain.
(a) Prime Minister
(b)  Queen of Britain
(c) Speaker of House of Commons
(d) Chief Justice

The term of members of House of Commons in Britain is year.
(a) 06 (b) 04
(c) 07 (d) 05
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